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1 561 21 80
Ugnr-p FurIr&F
trurnqh qh r{q 300 5400 18

1581 1 100 Zug ilururhurptur qh qq 280 220640 788

15850000 Znttf rftulurpntrhqhtr qh IIq 350 22750 65
1 5831 000 Gurpurnrurlruq qh qq 270 27000, 100

1 5530000

tIurpurq

uhnnr-qpuuhh qh IIq 3900 273000 70
15421100 UpLurburq\fr &hp,

nur$htrurgqrub qh thsr 650 14300 22
0321 1 300 trpfbd. qh qq 500 35000 70
1 561 6000 Zh4\ud.rutlurp

qnhrbur qh qq 500 20000 40
15331 153 fluru qh rrq 370 11100 30
15331 154 Otnn qh IIq 350 7000 20
1 561 7000 gnphhuJ&urLlun qh lrq 300 5400 18
1 561 9000 ZurdurntuAunhun qh rrq 400 10000 25
15331 152 Uhuhn hrnn qh IIq 950 12350 13

1 5625000 uulhururlur&unlurp qh IIq 400 2000 5
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thurrahrhhn 350on qh tnnuh 450 9000 20

1 5331 1 51 (unhUutlnn tnnh qh qq 1 100 11000 10
15333100 Sndumh du6nrtr qh IIq 950 23750 25
03142510 Cnr 01 lrurnah qh hrurn 60 66000 1 100
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15841 100 truUunrh rhnzh qh hq 3000 2100 0.7

1 551 1 600 lurnuqnurd tttuB qh huur 500 26000 52

15821500 .{ru$rh qh IIq 1000 35000 35
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15842110 trntr$hrnhnhtr qh hq 1 500 15000 10
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1 58631 00 Ebl qh urnrrh 600 7200 12
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3221410 Uurnudn qh IIq 200 1 2000 60

1 531 3000 Uunmn$hr qh hq 200 100000 500

15331 167 9urhrurh,tuurnn qh hruur 150 5400 36

1 5331 1 64 Quqtrn qh IIq 250 6250 25

15331 161 Unfu qh qq 200 6000 30

15332140 tu0dnn qh qq 300 9000 30

15331 131 rnnh buhuu qh hq 200 2000 10

1 5872600 un41u qh tnntth 250 2500 10

1 53321 60 nurhurh qh rrq 695 10425 15

15842230
2n\n1u4h \phd
bnhtlhrur200qn qh Zunn 650 32500 50

15541200 hhubt qh urnrrh 150 2250 15
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4unlrtrhurhph,
rnnurcntub qh hunn 100 500 5

3221124 ilurnmtrq qh qq 240 7200 30

15331 139 rnrhh qh r{q 240 8400 35

15872800 urnruhn uh qh tnnr-rh 100 700 7

1 5872900 urnulhn turndhn qh urmrh 100 700 7

15331 163 nruqnrh qh IIC[ 250 2500 10

1 53321 91 urnpruturLurnhtrq qh rrq 500 7500 15

15871257 hruilhr.tnrtrphhn rutt qh nnr-rh 100 800 8

1581 1 130 PnLluh qh huru 50 25000 500

3222334 utr uurtnn qh qq 250 5000 20

1 5321 000 h nrJru nur/ilncurhlnrp/ qh LhSI. 650 26650 41
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